TR T FERREI O — M2 WIET 2 %612 AT 5,

T I TH T HOBH 451 0 — B 2 E S 5 5451

GETEAIE3 25
VRE29%10H10H

FhEiR AE &k

FETTTERIES] CERRITHEZERETRBIETSE) O—H2RO X 9 IZHET 5,

B 1 BHELIDIHEZRD L H 12k D,

59 JTEELRBRIE (CERK 9 fRIEMER1235) BT84 D
28 1IE, 1L DI125 1 HEOH 1155045
D 5 FIEDOH BN IS  FEE ST EHT R FE T
£
(1) FEEHIBE AR — A FEH
T AR E W
A FEE RS

(2)  FEE M RN TP — B AR R
7 R E R
A FEEERHGE

(3) THETHL - HATE SRR S FERES
T AR E WS
A FEE RS

1Rz x
1Rz =

1Rz x
1{Ricox

1Rz x
1Rz x

20, 000
10, 000

4,000
2,000

4,000
2,000/

NATO BB HEATT 5,



